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(c) This paper consists of TWO sections. Section | and Sec
(d) Answer ALL the questions in section | and only five estlons from Section Il
(e) All answers and working must be written on thejygtlon paper in the spaces provided
below each question

(f) Show all the steps in your calculations, gjvd_,@ your answers at each stage in the spaces
below each question

(g) Marks may be given for correct wo, "n’g even if the answer is wrong

(h) Non-programmable silent calcqlﬂ)rs and KNEC mathematical tables may be used
except where stated other i

(i) This paper consists 16 @(féd papers
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as indicated and Fra no questions are missing.
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SECTION 1 (50 MARKS)
Answer all the questions in this section

1. Evaluate
18+30f(-2)X8+24
—4+6x2 (3mks)

o g
Q,{
R
K
2. Solve for xin the equation ro."’
27571 x 29 = 432 R (3mks)
&
o
¢

3. Given that OA = 5i-3j and OB=3i. Find the n@g itude of AB to one decimal place (3mks)
3¢
(X
Qf
QT
X
Q%
4. The distanceé)\gween points P and Q on a section of a straight road is 12km. Mukai and

Mutua f(%oints P and Q respectively at the same time and moved towards each other
at 1mys and 1.5m/s respectively. Calculate

gk@#eir relative speed (1mk)

«©

b) The time they will take before meeting (2mks)
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5. Use reciprocal tables to find the reciprocal of 0.02674, hence evaluate to 2s.f.  (3mks)
0.4096
0.02674

&
o g
&

o
6. The image of P (5,5) under an enlargement scale factor 2 is p'(8,7). FincLQe coordinates

of the centre of enlargement (4 (4mks)
R
&
ot
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¥
&
7. An open rectangular box measurQQéxternally 32cm long, 27cm wide and 15cm deep. If
the box is made of wood lchmck, what volume of wood is used? (3mks)

%
:‘.)
%—

Q/Q/

<<{
{Q/

% "
8{ security guard observes that the angle of elevation to the top of an observation tower

O is 36°, if he walks 65m towards the base of the tower; the angle becomes 57.5°.
Calculate the height of the tower? (4mks)

©2013 Bunyore - Maranda Joint Examinations Turn over



9. On the triangle PQR, draw a circle touching PR,QP produced and QR produced  (3mks)

R
Q
c,oé\
&
R
K
@L,
10. Find the perimeter of the figure below. Give your answer correcg)@gfour significant
f ¢
gures. @5.
(Taken = = A B <<{Q/ (3mks)
4.2(:14343 ’
¥
3
[
Q}
Qe
X
Q%
11. Aline L passes t o§<gh P (8,6) and is perpendicular to the line 3y + 2x + 6 = 0. Find
the equation Q&K(e L and write it in the form y = mx + c. (3mks)
7
2
Qf({
*©
&
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12. Expand and simplify the expression (2x2? — 3y3)% + 12x%y? (2mks)

S
13. Solve for P given that, log,(2p + 3) — 2 = log,(p — 2) (3r®§s)

(%
R
(/‘v
e
¢
<<{
14. Given that cos(90 — x)° = \/ig,find tan x 4343 (2mks)
&\9
3
.(‘-:

15. A Forex Bureau in I@ya buys and sells foreign currencies as shown below:

&

Buying Selling

Currency @, (Ksh) (Ksh)
{Q/
Swissérgnc 12.34 12.38
\S

%}Qnese Yen 11.28 11.37

QO{ A businesswoman from Switzerland converted 295 250 Swiss franc into Kenyan Shillings

(a) Calculate the amount of money, in Kenya shillings, that she received (1mk)
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(b) While in Kenya, the businesswoman spent Ksh. 2 258 000 and then converted the
balance to Japanese Yen. Calculate the amount of money, to the nearest Japanese Yen,
that she received (3mks)

R

16. Two similar cylinders have the ratio of the areas as 9:25. Given that thﬁggger cylinder

has a volume of 750cm?3, calculate the volume of the smaller cyIinQ/ ; (3mks)
[
SECTION 11 Q}k—o

Answer only five questions from tﬁ(‘&ection

17. a) Mr. Mulei operates two passenger service vehi along the Nyeri-Nairobi route. One
is a 16-seater matatu and the other an 8-seatg¢°eugeot 504. Each vehicle makes one
route trip per day, and the charges are k§ ~250 and ksh. 300 per passenger respectively
(one way). The matatu uses diesel whic&}ost ksh. 48 per litre and the Peugeot 504 uses
regular petrol which costs ksh. 52 pqﬁitre. The fuel consumption of the two vehicles is
in the ratio 4:3 respectively. QQ/

a) If the matatu uses 80 Iitr& or the round trip, determine the fuel consumption of the
Peugeot 504 for the r%b}fd trip (2mks)

%
:%
*‘

7
b) Cal%ﬁ?é the daily collection for each vehicle (2mks)
{Q/

N
\S
<<O
c) Determine which vehicle is more profitable (on a daily basis) and by how much.
(other factors being constant). (3mks)
d) If the prices of both types of fuel go up by 20%, determine the percentage change in

the daily collection (3mks)
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18. Four towns K,L,M and N are such that L is 94km directly to the North of Kand M ison a
bearing of 295° from K at a distance of 60km. N is on a bearing of 310° from M and at a
distance of 42km, using a scale 1:1000000.

a) Make an accurate scale drawing to show the relative scale positions of the towns

(4mks)
)
o g
Q,{
R
K
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R
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3
b) Find the distance and the bear@‘bf Lfrom M (2mks)
Qe
X
[
Q’O
(/é(/
c¢) Find dist&n\gand bearing of N from L (2mks)
<
e
*©
&
d) Find the distance and bearing of K from N (2mks)
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19. The co-ordinates of the vertices of a triangle PQRS are P (0,4), Q(2,0) and R(4,6). The
vertices of its image under a rotation are P(5,1)Q(1,-1)and R(7,-3).
(a) (i) On the grid provided, draw PQR and its image P”"Q'R’ (2mks)

(ii) By construction, determin@@ne centre and angle of rotation (3mks)
’&be
q

Q@
&

7
<
e
O{
(c)SOn the same grid as (a) (i) above, draw P”Q"”R”, the image of P’Q’R’ under a reflection in
O{ the liney =x (2mks)
<< (i) Draw the line of symmetry of triangle PQR (1mk)
(ii) Write down the equation of the line (2mks)
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20. The frequency distribution table below represents the number of kilograms of meat sold
in butchery.
Mass in kg ‘1—5 ‘6—10|11—15 | 16—20| 21-25 |26—30| 31-35

Frequency |2

3 ‘6 ‘8 ‘ 3 ‘1 ‘ 1
a) State the modal frequency. (1mk)

&

b) Calculate the mean mass to 2 decimal places {‘-,(6mks)

>

(c) Calculate difference bet\ﬂen the median and mass and the mean mass. (3mks)
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21. The figure two intersection circles with centre A and B and radii 7cm and 10.5 cm respectively.

The distance between AB — 14 and AM:MB-3:4

C
10.5
B
&
4 ¢
5 .
N

Calculate to four significant fig the; @QQ/

a) Size of angle CAD ‘_”(Q (3MKS)
(%
R
&
ot
2
<<{
$ o
3
&43
3
&
b) Size of angle CBD. Q@ (3mks)
\.Qré
S
Q@
&
Q:%-
<
7
g\dﬂ'ea of shaded region (use T = 3.142). (4mks)
&
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22. In an n-sided polygon two angles are right angles and each of the remaining angles is 150°
a) Find the value of n hence the sum of interior angles of this polygon. (4mks)

o g
Q,{
R
xQ
@L’
R
(/‘"
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{Q/
b) Name the polygon Q (1mks)
& o
N
&44
3
(X
Q}
Q%
X
(3
Q@
&
Q:%-
«°
{Q/
Q\Oind the areas of a regular octagon of sides 4cm o 5sf. (5cms)
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23. In figure below, AB is parallel to CD. The lines AD and CB intersect at X. CB = CX:XB=3:1,<ABX=40°
and <CXD = 80°

(JO
B {")'
(a) Find the length of CX 2" (2mks)
R
xQ
,O‘v
R
&
ot
¢
<<{
(b) Determine, correct to 2 significant figures: 43\9
(i) The perpendicular distance between AB and&D. (2mks)
UJ ‘\&
4\
&
7
Qe
X
N
(ii) The length of XA)Q/ (2mks)
7
<
{Q/
V(‘iQJsing the cosine rule, find the length of CD correct to 2 significant figures. (2mks)
\¢
<<O
(d) Calculate, correct to one decimal place, the area of triangle CXD. (2mks)
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24. The cost C, of producing n items varies directly as n and partly as the inverse of n. to produce two
items it costs Ksh. 135 and to produce three items it costs Ksh. 140

(a) The constant of proportionality and hence write the equation connecting Cand n (5mks)

(JO
(_,o
Q}
R
xQ
@L’
. <
(b) The cost of producing 10 items; (/‘-, (2mks)
ot
2
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& o
3
&44
3
[
Q}
(c) The number of items of produchQ a cost of Ksh. 756. (3mks)

&
<
S
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